106 Herries Street Toowoomba QId 4350 Telephone 07 4639 2800
Postal Address PO Box 614 Toowoomba QId 4350 Facsimile 07 4639 6866
Directar Lindsay B.Reid Mobile 0408 392 000 (Lindsay)

CONSULTING BE(Hons|) M.LE. Aust, RP.E.Q, CP.Eng, NP.ER3 0417 050 173 (Shayne)
ENGINEERS Associates Shayne P. Cleary
PTY LTD Internet  www.reidconsulting.com.au
Email mail@reidconsulting.com.au
ABN 77 096 964 493
30 January 2015

Ref No. 12835 Revision A

Level Master
549 Boundary Road — Shed 3
TOOWOOMBA QLD 4350

Dear Sir,

RE: ADJUSTABLE POST BRACKETS

Please find attached the following revised drawings which have been issued in order
to alter the previous specification in regard to load carrying capacities. In order to
minimise the risk that persons using the system may misinterpret the structural
capacity, the revised drawings have been modified to clarify these issues. Attached
are the following revised drawings; Drawing No. 12835 Sheet 1 Issue E, Sheet 2
Issue C, Sheet 3 Issue C and Sheet 4 Issue C.

We also attached new Drawing No. 12835 Sheets 5, 6 and 7 Issue A.

Yours faithfully,

g

7 TN
LINDSAY B. REID BE (Hons I) M.I.E.Aust, R.P.E.Q., CP.Eng, N.P.E.R.3




PLOT DATE 1%12/10
\WORKING FILES\ 12800\ 12835\ 12835_01E.dwg

4 106 Herries Street, Toowoomba
P.0. Box 614 Toowoomba Q. 4350
Tel (07) 4639 2800 Fax(07§ 4639 6866

Mobile Phones: 0408 392 000 (Lindsay Reid)
0417 050 173 (Shayne Cleary)
Email: mail@reidconsulting.com.au

1 | 2 | 3 4 9 6
160 MINIMUM
A 20 0 A
[ —~ 200x10 PLATE. 2/148 B
Rore— [ /\ — @1 HOLES FOR 2/M12 BOLTS.
MAXIMUM VERTICAL DOWNWARD
LOAD CAPACITY 9OKN #. (LIMIT
B THREADED SOCKET TO STATE LOAD) #( s
RECEIVE M30 THREADED :
ROD. MAXIMUM VERTICAL UPWARD
3 =
- = g_l al < B
zZ_95 .
2§92§ 200x10 PLATE. 2/149
EéEEg HOLES FOR 2/M12 BOLTS.
SougY 6mm GRUB SCREW TO
of PZEF2 LOCK AGAINST TURNING. ¢
,2<g§ ADJUSTING NUT #: THE LOAD CAPACITY INDICATED RELATES
2a TO THE STRENGTH OF THE ADJUSTABLE
B < BRACKET. THE BUILDING DESIGNER SHALL
L WELDED CAP. ASSESS ALL OTHER REQUIREMENTS AND
& w REFER DETAIL THIS SHALL MAKE APPROPRIATE ALLOWANCES.
- 2N SHEET. B
e GALVANISED M30
59 | | THREADED ROD.
Wa | | 220mm LONG
0 3@ I ll<——— GALVANISED POST LENGTH TO SUIT D
33 | | 75x75x2.5 SHS, 90x90x3.5 SHS
oS | | OR 100x100x3.0 SHS. MAXIMUM
8% ! /\/ . ABOVE GROUND LENGTH 3000.
M
40¢ HOLE
| ' ' /\/ ' FALL FOR M30 NUT CENTRAL u
7: :\EDRA'NAGE 10mm CAP o
7 N | | < - Vv PLATE. \ -
N\ [ KB M40 MINIMUM
W e ? ’ &7 NUT AND —
| | R gﬂﬁgm } |
. . < -« ¢| E=¢@f GRUB SCREW E
SEER | | .. | EEZ2SE  soxBOx16 SHS. = o 8
- a .a . )
a- o I : . opo o
RN | | 82055 2/80 Howes Each— | N '
- g . o | E6EZS OPPOSITE SIDE. 14 20 o0
B 2 a | /\/ | IR D@ _B5X| GAUGE (CLASS 4) —=——i=—=1—— N
/\/ w82k  TEK SCREWS MN. 80
LT, T 8tete WELDED CAP DETAIL
A “ 49 ﬂ%o&'x‘(
F T I | - < % F
ol T : 80
°, D S R 1l 2 uz ' i, A 80x80x1.6
| L4l - <9 g 7] o 720\‘ 7\20‘ SHS
4 =2zoY \ | )
.0 < A z<zuy 2/8¢ HOLES
a . T e, g5 BOTH SIDES. a
) . 3°5aa
4 2 a r a ) ]
'~ WELDED BASEPLATE. J \
REFER DETAIL THIS SHEET. 100x80x6 BASE 34 DRAIN HOLE
G| PLOT SCALE 1:100 PLATE. BOTH SIDES.

WELDED BASEPLATE DETAIL

\ ABN. 77 096 964 493
/ —————— /CL\ENT \ e
N niln Consulting Engineers, LEVEL MASTER ADJUSTABLE POST
B oo | Project Managers | === R HEAD ASSEMBLY
ENGINEERS and Designers
\ PTYLTD (™ 30/01/15 |, ~ea 014/ k 1:5 12835 E |Ad

T

1 ] 2 ] 3 ] 4 ]




@

1 | 2 | 3 4 9 6
160 MINMUM ___
—~ =—————200x10 PLATE. 2/14¢
0 —10— {\ /\ —® HOLES FOR 2/M12 BOLTS.

MAXIMUM VERTICAL DOWNWARD
LOAD CAPACITY 90kN #. (LIMIT

THREADED SOCKET TO

3 e RECEIVE M30 THREADED ROD.
= 24 1
z_Y5 .
23 200x10 PLATE. 2/149
- [a]
E#EEg HOLES FOR 2/M12 BOLTS.
Sougy 6mm GRUB SCREW TO
fggég LOCK AGAINST TURNING.
ADJUSTING NUT
< 3F # THE_LOAD CAPACITY INDICATED RELATES
b 2 TO THE STRENGTH OF THE ADJUSTABLE
“ WELDED CAP. BRACKET ONLY. THE BUILDING DESIGNER
REFER DETAIL THIS AND FOUNDATION DESIGN ENGINEER SHALL
SHEET. ASSESS ALL OTHER REQUIREMENTS AND
GALVANISED M30 SHALL MAKE APPROPRIATE ALLOWANCES.
THREADED ROD.
[ 220mm LONG
oN
=2 [~ GALVANISED POST LENGTH TO SUIT
50 75x75x2.5 SHS, 90x90x3.5 SHS
ko OR 100x100x3.0 SHS. MAXIMUM
T n ABOVE GROUND LENGTH 3000. 406 HOLE
9 M30 NUT
g,_ CENTRAL
02 10mm CAP =
g3 PLATE. \
mZ [ /\/ | WELDED BASEPLATE. mg mg""““ ‘
| | REFER DETAIL THIS RUE SREW 1T
| | SHEET. 1 o g
I | 3]
80x80x1.6 SHS.
| | FALL FOR o ] ? r
A — EACH OPPOSITE 20 [
_—— 0 D SIDE. — e
IR T B \\// 80
A 2 | R TR NP2 — -—
. . ) t . B . cooa
o 1l 22 sors. oru & WELDED CAP DETAIL
A -~ —— | EPOXY. 160 EMBEDMENT.
<
) . .A < . . ) . < .: . S q. 80
. L P ) . - T
T B I R 20 _20_ gggsom.e
AL I RS 2/86 HOLES ]
P BOTH SIDES. '
. P et
@ : /\/ e N Q,
100x80x6 BASE
PLOT SCALE 1:100 5&2% ﬁ{g&?’&ﬁm \M DRAIN_HOLE
: BOTH SIDES.
(IW%TR&)I%E Fﬂé%ééo\mssv 2835_02C.dwg CORNERS.
/" 106 Herries Street, Toowoomba WELDED BASEPLATE DETAIL
P.0. Box 614 Toowoomba Q. 4350 e ———————————————

Mobile Phones: 0408 392 000 (Lindsay Reid)
0417 050 173 (Shayne Clea ?

Tel (07) 4639 2800 Fax(07) 4639 6866
0429 392 800

avid Waldocl
Email: mail@reidconsulting.com.au

T

L ABN. 77 096 964 493
/ —————— /CL\ENT \ e
N niln Consulting Engineers, LEVEL MASTER ADJUSTABLE POST
B oo | Project Managers | === R HEAD ASSEMBLY
ENGINEERS and Designers
\ PTY LTD (" 02/02/15 | —nia 2014/ k 15 12835 2 D A4)

1 ] 2 ] 3 ] 4 ] 5 ] i




| 2
160 MINIMUM

20

THREADED SOCKET TO

20
-0

—~————200x10 PLATE. 2/14¢

HOLES FOR 2/M12 BOLTS.

MAXIMUM VERTICAL DOWNWARD
LOAD CAPACITY 9OKN#. (LIMIT

RECEIVE M30 THREADED

STATE LOAD)

ROD. MAXIMUM VERTICAL UPWARD
3 e
H = a=l 7'7
4 o .
2Zere T -LATE. 2/149
E#EEg HOLES FOR 2/M12 BOLTS.
Sougy 6mm GRUB SCREW TO
c °°<z(.§ag — LOCK AGAINST TURNING.
-1 ADJUSTING NUT
2 | #: THE LOAD CAPACITY INDICATED RELATES
® A TO THE STRENGTH OF THE ADJUSTABLE
| SHEET BRACKET. THE BUILDING DESIGNER SHALL
GALVANISED M30 ASSESS ALL OTHER REQUIREMENTS AND
x THREADED ROD. SHALL MAKE APPROPRIATE ALLOWANCES.
r 220mm LONG
x
b %(_.,5 GALVANISED POST LENGTH TO SUIT
;gg (7>st71500"@215 03H3sb snggc»ca.s SHS
= x100x3.0 SHS. MAXIMUM
g§5 4\/_ ABOVE GROUND LENGTH 3000. M30 NUT 409 HOLE
I DESIGN OF STEEL CENTRAL
| x5 POST AND FOOTING
30 BY OTHERS.
=0
3 WELDED BASEPLATE.  Miv MNMUM = ‘
z REFER DETAIL THIS GRUB SCREW C 1
SHEET. ! o
E /T T o
FALL FOR 2/86 HOLES EACH — | 2 ,
DRAINAGE OPPOSITE SIDE. 14
! GAUGE (CLASS 4) lzo 2ol
1z & e . VX TEK SCREWS
\/ R EH o \\\// MINIMUM.
. - N A
a4 L — 2/M12 BOLTS. DRILL &
I EPOXY. 160 EMBEDMENT.
<
" < - . < . q 80
R . h a ceL I T
e A AL ~ 20 _20 _ gagom .6
N I . 2/8¢ HOLES o
| I P FOOTING By  BOTH SIDES.
> /\/ OTHERS. - Q
100x80x6 BASE
. PLATE. 2/14mm¢ \3¢ DRAIN HOLE
PLOT SCALE 1:100 HOLES IN OPPOSING BOTH SIDES.
QVORONG. FLE& 12800012635\ 12835_03C.dwg CORNERS.
/" 106 Herries Street, Toowoomba WELDED BASEPLATE DETAIL
P.0. Box 614 Toowoomba Q. 4350 e ———————————
Tel (07) 4639 2800 Fax(07) 4639 6866
L_{ |Mobile Phones: 0408 392 000 gljndsay Reid)
0417 050 173 (Shayne Cleary)
Email: mail@reidconsulting.com.au
L AB.N. 77 096 964 493
/ —————— /CL\ENT e
H niln Consulting Engineers, LEVEL MASTER ADJUSTABLE POST
B oo | Project Managers | === R HEAD ASSEMBLY
ENGINEERS and Designers e B
\ PTY LTD N 30/01/15 ,-_,_'m;zm/k 1:5 12835 C A4)
1 ] 2 ] 3 ] 4 ] [ ] [




@

S 4

| 2
200 MAXIMUM

n
~

=~
1 &— /\ — o

(=————200x10 PLATE. 2/14¢ HOLES
FOR 2/M12 8.8/s BOLTS.

MAXIMUM VERTICAL DOWNWARD

NOTE:
14 GAUGE TEK SCREWS TO

HAVE A MINIMUM SHEAR

STRENGTH IN SINGLE SHEAR OF

10kN/SCREW AT ULTIMATE
FAILURE.

THREADED SOCKET TO LOAD CAPACITY 9OKN#. (LIMIT NOTE:
gggl-:lvs M30 THREADED STATE LOAD) STRUCTURAL DESIGNER SHALL
' MAXIMUM VERTICAL UPWARD AGCOMODATE. ANY VERTICALLY
= _ LOAD CAPACITY 40kNf. (LIMIT UPWARD LOADING EFFECTS.
2 5, STATE LOAD)
z_Y5 |
2§92'§ 200x10 PLATE. 2/14¢ HOLES
E#EEg FOR 2/M12 8.8/s BOLTS.
Sougy 6mm GRUB SCREW TO
f;%ég LOCK AGAINST TURNING.
< g ADJUSTING NUT #:THE LOAD CAPACITY INDICATED RELATES
b 2 TO THE STRENGTH OF THE ADJUSTABLE
“ WELDED CAP. BRACKET. THE BUILDING DESIGNER SHALL
REFER DETAIL THIS ASSESS ALL OTHER REQUIREMENTS AND
SHEET. SHALL MAKE APPROPRIATE ALLOWANCES.
GALVANISED M30
& THREADED ROD.
e 220mm LONG
x
S5 = GALVANISED POST LENGTH TO SUIT
LZ2E 75x75x2.5 SHS, 90x90x3.5 SHS
i IO B
OS> n i 409 HOLE
o DESIGN OF STEEL M30 NUT CENTRAL
x5 POST AND FOOTING 10mm CAP o
250 BY OTHERS. PLATE. \ -
=0
3 [ [ WELDED BASEPLATE. MO MNMUM™T— % -
2 | | REFER DETAIL THIS GRUB SCREW B |
| | SHEET.
| | 80x80x1.6 SHS. — =] 1 2 S
| I FALL FOR 4/8¢ HOLES EACH <
, _ DRAINAGE OPPOSITE SIDE. 14 \
= [ GAUGE (CLASS 4) 20 120
a-. ] TR s
S e PY ' WELDED CAP DETALL
. B Dooa
A, —2/M12 BOLTS. DRILL & —— ===
IS S EPOXY. 160 EMBEDMENT.
e .. o 80
a4 . .
sa 0] e al g 20, 20 80x80x1.6
. ) N A ] SHS.
DRREIETLIY B DN Som Sioes. *
S P FOOTING BY : / 9
” ,\/ OTHERS. - 8
_*
100x80x6 BASE \
PLATE. 2/14mmg 3¢ DRAIN HOLE |
PLOT SCALE 1:100 HOLES IN OPPOSING BOTH SIDES.
QVORONG. FLE& 1280012635\ 12835_04C.dwg CORNERS.
/" 106 Herries Street, Toowoomba WELDED BASEPLATE DETAIL
P.0. Box 614 Toowoomba Q. 4350 e ———————————
Tel (07) 4639 2800 Fax(07) 4639 6866
Mobile Phones: 0408 392 000 (Lindsay Reid)
0417 050 173 ighuyne Clea ?
0429 392 800 (David Waldocl
Email: mail@reidconsulting.com.au
L AB.N. 77 096 964 493
/ —————— /CL\ENT e
IIE“' Consulting Engineers, LEVEL MASTER ADJUSTABLE POST
B oo | Project Managers | === R HEAD ASSEMBLY
ENGINEERS and Designers e B
\ PTY LTD N 30/01/15 ,-_,_'m;zm/k 1:5 12835 4 C A4)

2 ]

3 ]

4 ]

2 ] i




@

SET AT 80mm MINIMUM

7z

AND ALLOW
ADJUSTMENT TO SUIT

K

N

200

50

MAXIMUM VERTICAL CONCENTRICALLY
APPLIED (TO THE ADJUSTING BOLT)
DOWNWARD LOAD CAPACITY 90kN. (LIMIT

35

PREDICATED SOIL
MOVEMENT.

3000 MAX HEIGHT FOR
NOMINATED POST SIZE

STATE LOAD).

200x6 FOLDED PLATE.
2/14¢ HOLES FOR 2/M12
BOLTS. 12/8# HOLES.

PLUG WELD

ADJUSTING NUT

WELDED CAP.

REFER DETAIL THIS

SHEET.

GALVANISED M30
THREADED ROD.
220mm LONG

GALVANISED POST LENGTH TO SUIT
75x75x2.5 SHS, 90x90x3.5 SHS
OR 100x100x3.0 SHS. MAXIMUM
ABOVE GROUND LENGTH 3000.

FALL FOR
\\[Dmm
a4 — .

..\\\/

CAST 500 INTO CONCRETE
PIER FOOTING TO DESIGN

AND DETAI WBY OTHERS.

100 MINIMUM
OR AS
OTHERWISE
DESIGNED BY|

ENGINEER.

PLOT SCALE 1 100

PLOT DATE

\WORKING FIL

— WELDED BASEPLATE.

REFER DETAIL THIS SHEET.

Eé\12800\12835\12835 05A.dwg

/

Mobile Phones: 0408 392 000

Email: mail@reidconsultin

0429 392 800

106 Herries Street, Toowoomba

P.0. Box 614 Toowoomba Q. 4350

Tel (07) 4639 2800 Fax(07) 4639 6866
Lindsay Reid)

avid Waldocl

0417 050 173 (Shayne Clea ?

AB.N. 77 096 964 493

.com.au

THE LOAD CAPACITY INDICATED RELATES
1 |TO THE STRENGTH OF THE ADJUSTABLE

BRACKET. THE BUILDING DESIGNER SHALL
ASSESS ALL OTHER REQUIREMENTS AND
| ISHALL MAKE APPROPRIATE ALLOWANCES.

75

125

\TIGHT

BEND

END VIEW

M30 NUT

10mm CAP \
\

80x80x1.6 SHS. ——=

PLATE.

M40 MINIMUM
NUT AND
GRUB SCREW

2/8¢ HOLES EACH/
OPPOSITE SIDE. 14

GAUGE (CLASS 4)
TEK SCREWS MIN.

WELDED CAP

80x80x1.6
- ,20/ SHS.

2/88 HOLES
BOTH SIDES.

40¢ HOLE
CENTRAL

o

-—

o
90

40
80

20

20 _

_ 80

DETAIL

n
N

100x80x6 BASE‘T \3¢ DRAIN HOLE

PLATE.

BOTH SIDES.

WELDED BASEPLATE DETAIL

CONSULTING
ENGINEERS
PTY LTD

Consulting Engineers,
Project Managers
and Designers

/CL\ENT

LEVEL MASTER

DESIGNED

LBR

DRAWN

JUK

TITLE

ADJUSTABLE POST
HEAD ASSEMBLY

(™ 30/01/15

APPROVED

APEMZ014/

k 1:5

DRAWING No

12835

SHEET AMDT

M)

T

2 ]

3

4

5 ]




@

75

MAXIMUM VERTICAL CONCENTRICALLY
APPLIED (TO THE ADJUSTING BOLT)
DOWNWARD LOAD CAPACITY 90kN. (LIMIT

60

145

o
n

I
_?_\J

AND ALLOW
ADJUSTMENT TO SUIT
PREDICATED SOIL
MOVEMENT.

SET AT 80mm MINIMUM

3000 MAX HEIGHT FOR
NOMINATED POST SIZE

K

z
N

IS
[N

STATE LOAD).

THE LOAD CAPACITY INDICATED RELATES
TO THE STRENGTH OF THE ADJUSTABLE
BRACKET. THE BUILDING DESIGNER SHALL
ASSESS ALL OTHER REQUIREMENTS AND
SHALL MAKE APPROPRIATE ALLOWANCES.

\ZOOXG FOLDED PLATE.

2/14¢ HOLES FOR 2/M12
BOLTS. 12/8# HOLES.

PLUG WELD

ADJUSTING NUT

WELDED CAP.

REFER DETAIL THIS

SHEET.
GALVANISED M30
THREADED ROD.
220mm LONG

GALVANISED POST LENGTH TO SUIT
75x75x2.5 SHS, 90x90x3.5 SHS
OR 100x100x3.0 SHS. MAXIMUM
ABOVE GROUND LENGTH 3000.

M30 NUT

VX M40 MINIMUM
. \\\< NUT AND
AN . GRUB SCREW

OPPOSITE SIDE. 14

GAUGE (CLASS 4)
TEK SCREWS MIN.

CAST 500 INTO CONCRETE

PIER FOOTING TO DESIGN
AND DUAIWBY OTHERS

FALL FOR 10 CAP
a4 — .

80x80x1.6 SHS. ——= !

2/8¢ HOLES EACH/

75

145

TIGHT
BEND

END VIEW

40¢ HOLE
CENTRAL

90

40
80

20 20

80

WELDED CAP DETAIL

2/88 HOLES
BOTH SIDES.

100 MINIMUM
OR AS
OTHERWISE
DESIGNED BY|
ENGINEER

80x80x1.6
- ,20/ SHS.

PLOT SCALE 1:100
PLOT DATE 1%08/13
\WORKING FILES\ 12800\ 12835\12835_06A.dwg

/" 106 Herries Street, Toowoomba
P.0. Box 614 Toowoomba Q. 4350
Tel (07) 4639 2800 Fax(07£D 4639 6866

Mobile Phones: 0408 392 000 (Lindsay Reid)
0417 050 173 (Shayne Clea
0429 392 800 (David Waldocl

Email: mail@reidconsulting.com.au

— WELDED BASEPLATE.
REFER DETAIL THIS SHEET.

n
2. N

PLATE.

| ' J ~ '
100x80x6 BASE \

BOTH SIDES.

WELDED BASEPLATE DETAIL

3¢ DRAIN HOLE

L ABN. 77 096 964 493
/ —————— /CL\ENT \ e
N niln Consulting Engineers, LEVEL MASTER ADJUSTABLE POST
B oo | Project Managers | === R HEAD ASSEMBLY
ENGINEERS and Designers
PTY LTD (" 30/01/15 | "/ k 1:5 12835 6 A A4)

T

1 ] 2 ]

3 ] 4 ]

2 ] i




I 3 I

S

@

MAXIMUM VERTICAL DOWNWARD
LOAD CAPACITY 9OkN#. (LIMIT
STATE LOAD).

MAXIMUM VERTICAL UPWARD

#: THE LOAD CAPACITY INDICATED

RELATES TO THE STRENGTH OF

THE ADJUSTABLE BRACKET. THE

BUILDING DESIGNER SHALL
ASSESS ALL OTHER
REQUIREMENTS AND SHALL
MAKE APPROPRIATE
ALLOWANCES.

160 MINIMUM
x -
o Jo— () —et
N
| )

[}

T

PLUG WELD L R
s &
2 5 200x10 PLATE. 3/14¢ !
S 03 - —— HOLES FOR 3/M12
=Zo%: BOLTS. SIDE PLATE DETAIL
aTad
gé%ﬁﬁ 200x10 PLATE. 2/149 200x10 PLATE.
82298 HOLES FOR 2/M12 BOLTS. 2/148 HOLES FOR
,_<982 .20 | 2/M12 BOLTS.
E ég ADJUSTING NUT ‘
7] WELDED CAP. o >
% REFER DETAIL THIS R —te— ()
2N SHEET. ‘ - o
ey GALVANISED M30 | 0
58 | | THREADED ROD.
S | | 220mm LONG 0 ' 4
3@ I ll<—— GALVANISED POST LENGTH TO SUIT ‘ &
25 | | <7)5Rx7153:)2'$ ogrz’sb 980x30x3.5 SHS | |
os | | X .0 SHS. MAXIMUM
S3 LA, ABOVE GROUND LENGTH 3000. CORNER _TOP PLATE DETAIL
mZ BUILDING DESIGNER SHALL ASSESS
7 /\/ . FALL FOR STRUCTURAL SUPPORT REQUIREMENTS AND |
| | | DRAINAGE VERIFY THAT SIDE TOP PLATES ARE ADEQUATE
_—— I4~ FOR THE PARTICULAR JOB REQUIREMENTS.
g A .4 N
K e (- \\\? M30 NUT 408 HOLE
A ERRPTE L Rz, CENTRAL
| . ok 10mm CAP o
R | ZoE PLATE. -
a0 . : oo M40 MINIMUM
| < [ o %L NUTAND ] . L
o gl [ . 22~ GRUB SCREW |
.~ el A : oB[E| ~ 80xBOx1.6 SHS. — = gl 8
/\/ 324 T Sﬁ‘
T s — ool  2/86 HOLES EACH J
L oo QWZ  OPPOSITE SIDE. 14 g  |og ﬁ
4 [ o GAUGE (CLASS 4) —= ===
AR 1 (R ,  TEK SCREWS MIN. _ 80 _|
. - S . = >
B A =P WELDED CAP DETAIL
- ..<7A e . zgigg
K R IR B =ELo0 80
< oCEnZ - -
o <] OEL-J 20 20 80x80x1.6
SHS.
" WELDED BASEPLATE. 2/86 HOLES o
REFER DETAIL THIS SHEET. BOTH SIDES.
FroT B 14188715 X 9
\WORKING FILES\12800\12835\12835_07A.dwg L ‘ !
/ P1(())68Herrée1545_ltreet, Togwoamggso 100x80x6 BASEJ \
.U. Box oowoomba . X X 3¢ DRA'N HOLE
Tel (07) 4639 2800 Fax(07) 4639 6866
M:bik(e sznes: 0408 392 %)é)(o gl:'ndsay Reid) PLATE. BOTH SIDES.
0417 050 173 (Shayne Clea ?
0429 392 800 (David Waldoc
N k- WELDED BASEPLATE DETAIL
/ —————— /CL\ENT e
T niln Consulting Engineers, LEVEL MASTER ADJUSTABLE POST
B oo | Project Managers | === R HEAD ASSEMBLY
ENGINEERS and Designers — T
L PTYLTD ™ 30/01/15 PE— i) L 1 12835 |77 |'x|m)

1 ] 2

| 3 |

4

] i






